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33. (I1I) Three blocks on a frictionless horizontal surface are

in contact with each other as shown in Fig. 4-54. A force F (Q\ me Q Ff&— Béj 4‘ laa mM

is applied to block A (mass m ). (a) Dra body dia-

gram for each block. Determine (b) the @ ation of the
system (in terms of my . mg. and mc). (¢) the net force on br m .

cach block. and (d) the force of contact that each block T Ns

exerts on its neighbor. (¢) If my = mg = m¢ = 10.0kg and
F = 96.0N, give numerical answers to (b), (c). and (d).
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FIGURE 4-54
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